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"ECONOMICS
Full Marks : 100
Pass Marks : 30
" Time : Three hours
The figures in the margin indicate full marks ‘
' ' for the questions. |
. - PART-A (3 -9%)
Q. No. 1 (a-f) carries 1 mark each | 1%6= 6
Q. No. 2 - 7 carries 2 marks each : 26 =12
Q. No. 8 =12 carries 4 marks each 4 4x5 = 20
Q. No. 13 & 14 carries 6 marks each 6x2=12
, . Total = 50
PART-B (% -&igx)
Q. No. 15 (a - f) carries 1 mark each 1x6= 6
Q. No. 16 - 21 carries 2 marks each 2%6 = 12
Q. No. 22 -26 carries 4 marks each 4x5 = 20
Q. No. 27 & 28 carries 6 marks each 6x2 = 12
Total = 50

Total (PART A & B): 50+50=100
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PART-A /3-5icd

What does a Production Possibility Curve mdlcate ?. a 1

@amm@ﬁ%ﬁmmv .

If an increase in the prlce of good X increases the demand for good

Y, then how the two goods are related ? : 1
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Total Variable Cost (TVC) will be » when total pro;:luct is

zero. . " (Fill in the blank)
, - ‘ o 1
TP Beolva =y (A SRS, o ARTETIE W o TR
| (T 312 93 )
A firm earns normal profit when — : _ - 1
@) AR>AC
(i) AR=AC

(i) AR<AC
(iv) MR=MC (Choose the correct answer)

o b TR e Wz I o —

() AR>AC
(i) AR=AC
(i) AR<AC . S
(i) MR=MC (5% Seact AR Shvea)

T[21

4

(e)

2.

Mention two reasons that give rise to economic problems.

In a centrally planned ecoﬁomy, which of the following takes all

economic d.ecis‘ions ? : ‘ 1
() Central Bank

(i) Market

.(iii) Government

(iv)  Both Government and Central Bank

T e S @S St Pz RERRS G
Wmm?
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(ii) R |
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What are the shapes of AR and MR curve for a firm under non-

competitive market structure? 1
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3. Whatisa budget line ? Why does it slope downward 2 - 1+1=2

AT @ e @ @O v B e

4.  If a unit tax is imposed, how does it impact the short-run supply curve of

~. a firm ? Show with the help of diagram. ‘ 2

mmmmﬂwzﬂ,mﬁaawmmﬁmm
mawﬁ@ﬁa?mwmm

5. What is ‘break-even point’ of a firm ? At which point of the AC curve, a
firm under perfect competition breaks-even ? 1+1—2

2P G AR TS B Ree ﬁ‘af%zaﬁmw sﬁ%&maﬂm%

.mmmﬁwmww altel 2

6. What does price elasticity of supply mean ? Brieﬂy explain. | 2
@NT 71 RfSgerret e @ik frat

7. What is a monopolistic competitive market ? 2
TR fecaferER A qentaed Afmiier Twr /e

8. Discuss four features of indifference curve. 4

Rarer® (AR BIRDY %) it )
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9. Define and draw average cost and average variable cost curve. Why these

two curves can’t touch each other ? _ | 3+1=4

VWWWWWWWWWﬁWﬁQG‘HWWWﬁWI
% e @R Wwﬁaﬁa IR 2

oR/War |

The Total Cost (IC) schedule of a productlon umt is given below. Find out
TFC, TVC AC and MC. : T -4

a%t@wﬁt (il I[P I (Tcmﬁaw—ﬁmmilqzﬁam (TFC), 10
vfﬁa@%m (TVC), mmmqmm@mmqw@ﬁaﬁwwy

Quantlty Produced ' ~ TC
Beor Afid

0 ‘ . 10
1 | .40
2 60
3 80
4 95
5 110
6 130
7 | 160
30T ECON (5] | Contd.




11.

Find :

. commodity affects its equilibrium price and Output

K

10. Mention four differences between perfect competitionv and monopoly.

ﬁ#ﬂ%@ﬁﬁawwmwwﬁw mﬂﬁ?;ﬁﬁn

The demand and supply funptions of a commodity is given by
Q=100 - 2P

Q,=2P - 60

(i) Equilibrium price
(i) Equilibrium quantity. ' 3414
©oTS <51 TR (NN W Gifn e A tarm)

Qs=100-2P |

Q,=2P - 60

() S VR W

(i) | O BesA ARTI Al 4t |
OR/ &%t

Explain with the help of a diagram, how Shlftmg Of the supply curve of

4

T ORI WWWWWW@QWW%W .
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12,

What do you understand by returns to a scale ? Write thé meaning of

constant, increasing and decreasing returns to scale. 1+3=4

mﬁaﬁmqﬁﬁﬁsqm?w,wﬁmwmwmﬁr
ferall |

OR/ w3t

State the re.asons:behind the working of ‘the law ofddir'ninishing marginal

product. 4
FAZPTIA s Bedma Rigs ez forat
13. State and explam the law of demand with the help of an imaginary
schedule and diagram. ‘ 6'
mﬁmﬁwwamwmwmw@wmwm- |
. W 9| '
OR/ 934t
Calculate price elasticity of demand by expenditure method :
(i If an increase in price from Rs. 10 to Rs. 12 per unit lowers quantity
demanded from 25 units to 20 units, | |
: (ii) If an increase in price per unit from Rs, 8 to Rs. 10 lowers quantlty
demanded from 20 to 16 units.
(iii) 1f a decrease in price from Rs. 12 to Rs, 8 per unit increases quantity
demanded from 20 to 28 units. 2+2+2=6
30T ECON
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14.

m%ﬁwﬁwﬂ&mmmmwv

(@) ofS 9% TR 10%13%12%12&13%%61&%9@::1%5@
RN 20 A A |

(i) aﬁmmmszmWﬁ‘imwﬁmﬂﬁmzom
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(ifi) aﬁmmw 12st%¢ﬁammm 20-?%28‘51@2# -

qf‘?w“

‘Define:

" () Total Product (TP)

() Average Product (AP)
(iii) ‘Marginal Product (MP) .

Explain the relation between AP and MP with the help of suitable

diagram. 1+1+1+3=6

@ ferai ¢

O T St
(i) TG e
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(i)

OR/ 593t

What'is production function ? g 1

T T P QAL

(i)

(iii)

‘What do you mean by fixed factor and variable factor of production ?

Give examples. - - . 2

sewfiwﬁmwﬁa@maﬁwqﬁmﬁs{ww

it

The production function of a firm is given by Q=2L2K2

Find out the maximﬁm possible output ’;hat the firm can produée
with 5 units of L and 2 units of K. What is the maximum pos31b1e

output the firm can produce w1th zero (0) units of L and 10 units -

ofK? -

3

it g @47 ofbrm Besim wom Q=2L2K2|

5 R L IR 2 7 K-3 RIS ARt oo R ol g Bl
IR AR 2 #ep. (O)WLmlommWaf%ﬁim@aﬁm
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PART-B / 451

15. (a) What is the relation between MPC and MPS ? 1

- MPC S% MPS-3 e 7~
() What is investment ? ' o | 1
Rt e
(¢ What dc‘)'.ybu meaﬁ by ‘velocity of circulation’ of money ? 1
R ‘oo A P o g
d) | Who is known as the ‘lender of last resort’ ? | 1
R =
(e) Wt is gover;ment' buqlget ? 1
R s e |
() In which year GST came into effect in India ? 1

©IReIH® (FIH 579 99 GST I T (R?

16. Define intermediate good. How mtermedlate goods are different fmm

- capital goods? 141=2

ammmmuwﬁmﬁfmqa@wwq%?
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17.

What is investment multiplier ? If Rs. 200 crore increase in investment

increases income by Rs. 800 crore, then what will be the value of investment

maltiplier ? . ,‘ 1+1=2

 Rifvc @elasﬁmrﬁcszoo mﬁ}mﬁﬁmﬂqmmsm mmm%m

(ST ﬁﬁww QR T el
18. Write the differences between ex-ante investment and ex-post investment.
B | 2 )
Fepifte RiRcan W% 121 (2ips) RfTamR otide Brai
19. Mention two points of superiority of Selecﬁ§e Credit Measures over
‘Quantitative Credit Control Measures. 2
ﬂﬁﬂrﬁ%mﬁmﬂﬁﬁmﬁammﬁﬂm%ﬁﬁ 751 Mﬁﬁ
b OSE
20. Write fwo differences between revenue expeﬁditﬁre and capital expenditure.
2
NS TN O TN TR e g SN B
21. What do you mean by devaluation of currency ? How does it affect the
import of a country ? . 1+1=2
Wmmqﬁmﬁsqm?mmmmawwﬁam%
(PR oIS FH 2
30T ECON
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24.

'What is a Deficit Budget ? Why a deficit budget i

" Define GDP. Can GDP be used as an index of welfare of a country ? Justify
‘your answer. 1+3=4

GDP-3 @I fo1dl | GDP-F (P 479 Il o Fieo) IR I MR 2
m@mﬂﬂwz{ﬁ?wml

-

How does the central bank use its quantitative credit control measures to
control inflationary situation of an economy ? 4

a«wﬁi‘w@“ﬁﬁwmﬁm@@ﬂ@wﬁwﬁ@mﬁm«

wReRR P TR wRae

' OR/ %33t

Write a note on ‘demonetisation’. -

‘ﬁs;jzﬁ'm’aﬁﬂmaﬁ Gt fort

S
than a surplus budget for a developing economy ? ?onsldered beneficial

1+3=4
s 2w e Wﬁ@@f@am?ﬁmmﬁm : |
Rotet Rt 1 e o St
25. Mention four dlfferences between Direct taxes and Iﬁdn-ect tax
es.
ASFF I T A@TF 3] Rl BIRG! i<y vy
26. (i) What is balance of payment ? L
AR et e | 1
(i) What are the two main components of balance of pay -
~ ent ? :
AR T 1 SO 7 s R weot
(iii) Write two differences between balance of
trade. Payment and balance of
ARCI T O AR TR 75t oty By, 2
30T ECON I '

4

27..

30T ECON

OR/ @3at

Write briefly about : ' | 2+2=4
(i) Open Economy ' |
(i) Exchange Rate.

ST BRI 8

() IF 9IS

i) R Z9

Explam the procedures of calculating Natlonal Income by value-added
method. 6

T IRCAE RS TSR @I st 31 ARFAIH! iyt 4 |
| OR/ g3t

From the data giveﬁ below calculate :
(i) GDP at factor cost |
(i) GNP at market price

(iii) NNP at factor cost

(@) ConsumptionExpenditure :  Rs. 2,000 crores

(b) Investment Expenditure Rs. 1,200 croree

(¢ Government Expenditure‘. : : R

450 crores
(d) Export Rs. 80 crores
(¢) Import Rs. 95 crores
(f Net factor income from abroad Rs. 60 crores
() Indirect taxes : -Rs. 90 crores

() Subsidies Rs. 80 crores

(i)  Depreciation Rs. 30 crores
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oW BT SR s o S . - OR/ %t

o ? A 7 /7 e Best (GDPr0) - | L ) What is aggregate demand ? Discuss the components of aggregate derlr:_as'r;dé
@ S S/ O e ONPar) | s SR e TR SRR ST S
(i) TN TTo eB/age TreR SeAl (NNPg) SRt 31| | | | '
@ Soien am | s 2,000 @sn% S

®) R s 1200 »  »

(0 I 3 450 » »

(@ @ 3 80 » »

) SR s 9'5l SR

o ROmR ofal b ol o 8 6(5_»- S | - | .

(g) W ?b‘# V 2 %0 »

. $ 80 »

o 280 »c .

28. Explain the process of equilibrium income determination of an economy

with the use of aggregate demand and aggregate supply curves.

6

HIAT CAN = wift Wmamwﬁﬁmmmﬁﬁaﬁm
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